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Q.1(a) There must exist a gap between hand-off threshold and the minimum usable signal. Why? Discuss the 
impact of the size of this gap. 

[5] 

Q.1(b) Explain how conventional mobile communication was different from present mobile cellular system? [5] 
   

Q.2(a) Explain how cell splitting is performed? How it can increase system capacity?  [5] 
Q.2(b) A cellular system uses 7 cells in a cluster where the path loss exponent is found to be 4. Determine the 

co-channel reuse factor and the SIR in the downlink. Assume all the six interfering cells are equidistant 
from the mobile user. Determine the SIR if the path loss exponent is found to be 3. 

[5] 

   
Q.3(a) Discuss the main technical features of the first generation (1G) cellular communication systems.  

Illustrate briefly about various 1G cellular standards.  
[5] 

Q.3(b) Discuss what CDMA makes a suitable choice for 3G cellular systems? Examine specific features of CDMA 
technology. 

[5] 

   
Q.4(a) Show GSM system architecture and describe its various sub systems. [5] 
Q.4(b) Define 4G cellular system and discuss its main characteristic features.  [5] 

   
Q.5(a) Explain different diversity schemes and discuss their merits and demerits.  [5] 
Q.5(b) Explain the operation of an adaptive array antenna system. [5] 
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